
ENVIRONMENTAL
 PRODUCT DECLARATION

IN ACCORDANCE WITH ISO 14025 AND EN 15804:2012+A2:2019/AC:2021

SmartEPD-2024-014-0089-01

Stongard MR

Date of Issue:
Feb 28, 2024

Expiration:
Feb 28, 2029

Last updated:
Feb 28, 2024



Stongard MR
Stonhard

General Information 3

Reference Standards 3

Veri,cation Information 3

Limitationsb Liayilitwb and Ohnerszip 4

OrganiBation Information 4

Product Information 4

Plants 5

Product Speci,cations 5

Material Composition 5

Softhare and LCI Data Sources 6

EPD Data Speci,citw 7

Renehayle Electricitw 7

Swstem Foundarw 7

Product vloh Diagram 8

Life Cwcle Module Descriptions 8

LCA Discussion 9

Results 10

En(ironmental Impact Assessment 10

Resource Use Indicators 11

Waste and output vloh Indicators 11

Caryon Emissions and Remo(als 12

Scenarios 13

Installation in to tze yuilding/construction site )A5. 13

Interpretation 13

References 14

Page 2 / 14



Stongard MR
Stonhard

General Information

  Stonhard 

1000 E. Park Ave., Maple Shade, NJ  08052

800.257.7953

info@stonhard.com stonzardkcom

Product Name:   Stongard MR  

Declared Unit:   1 kg of applied product  

Declaration Numyer:   SmartEPD-2024-014-0089-01  

Date of Issue:   February 28, 2024  

Expiration:   February 28, 2029  

Last updated:   February 28, 2024  

EPD Scope:   Cradle to gate with other options  
A1  -  A3, A5 

Mar-et)s. of Applicayilitw:     

Reference Standards

Standard)s.:   ISO 14025 and EN 15804:2012+A2:2019/AC:2021  

Core PCR: EPD International AB EPD International PCR for Construction Products v1.3.2 v.1.3.2, ISO 21930:2017

Date of issue: December 08, 2023

SuyYcategorw PCR: EPD International AB PCR 2019:14-c-PCR-017 Technical-Chemical Products for Construction Sector) 
(adopted from EPD Norway 2022-07-08) v.3.0

Date of issue: October 17, 2023

Valid until: July 01, 2024

SuyYcategorw PCR re(ieh panel: Contact Smart EPD for more information.

General Program Instructions: Smart EPD General Program Instructions v.1.0, November 2022

Veri,cation Information

LCA Autzor/Creator: Amy Torri amy@parqhq.com

EPD Program Operator: Smart EPD info@smartepd.com www.smartepd.com

585 Grove St., Ste. 145 PMB 966, Herndon, VA 20170, USA

Page 3 / 14



Stongard MR
Stonhard

Veri,cation:  Independent critical review of the LCA and data, according to ISO 14044 and ISO 14071 : External 

Gaspard Philis LCA.no gaspard@lca.no

 Independent external veriEcation of PD5, according to ISO 1402R and reference DC(s)G : External 

Gaspard Philis LCA.no gaspard@lca.no

Limitationsb Liayilitwb and Ohnerszip

 EPDs within the same product category but registered in different EPD programmes, or not compliant with EN 15804, may not be comparable. For two EPDs to 
be comparable, they must be based on the same PCR (including the same version number) or be based on fully-aligned PCRs or versions of PCRs; cover products 
with identical functions, technical performances and use (e.g. identical declared/functional units); have equivalent system boundaries and descriptions of data; apply 
equivalent data quality requirements, methods of data collection, and allocation methods; apply identical cut-off rules and impact assessment methods (including the 
same version of characterisation factors); have equivalent content declarations; and be valid at the time of comparison. For further information about comparability, see 
EN 15804 and ISO 14025. 

 The EPD owner has sole ownership, liability, and responsibility for the EPD. 

OrganiBation Information

 Stonhard is the unprecedented leader in manufacturing and installing high performance Woors. Our seamless, long lasting, easy to clean systems are engineered for both 
industrial and commercial markets. xe also bring the same performance to our wall and lining systems.  Joining form and function, our Woors are the dependable go-to 
choice for tough manufacturing environments, while still honoring innovative design for commercial environments. Epo6y, urethane and fast-track methyl methacrylate 
resin-based systems deliver a broad range of options for every market and application. 

 Stonhard manufactures and installs products throughout the world with headquarters in Maple Shade, New Jersey. Stonhard is an ISO-9001 registered company. 

vurtzer information can ye found at: zttps://hhhkstonzardkcom/ayoutYus/hzoYheYare/

Product Description

 Stongard MR is a Wuid applied Wooring system which falls under the MasterFormat classi:cation 09 H7 00.00 Finishes% Fluid-Applied Flooring. It consists of 3-layers% a 
primer (Primer 150), a polyurethane elastomeric membrane (Stonproof ME7) and a top coat (Stonkote UT4).  

 Individual component descriptions%  

 Primer 150 is a two-component, epo6y based primer. It is applied to a properly prepared substrate prior to the application of the appropriate Stonhard overlayment. 
The use of Primer 150 ensures a secure bond between the substrate and the overlayment, as well as provide protection from moisture that is present in green concrete.  

 Stonproof ME7 is a two-component polyurethane elastomeric membrane used for positive-side waterproo:ng applications. 

 Stonkote UT4 is a two-component, 100G solids, epo6y coating. It is speci:cally formulated to provide outstanding protection from a wide range of chemicals while 
increasing abrasion resistance and cleanability. Stonkote UT4 is easily applied and hardens to an attractive gloss :nish. 

vurtzer information can ye found at: zttps://hhhkstonzardkcom/products/stongard/

Product Information

Declared Unit:   1 kg of applied product  

Page 4 / 14



Stongard MR
Stonhard

Mass:   1 kg  

Product Speci,citw: Product Average

Product Speci%c

A(eraging:

  Averaging was not conducted for this EPD.  

Plants

Alghero, Italy
Alghero, Province of Sassari, Italy

Product Speci,cations

Product Classi,cation Codes: UNCPC - 379

Material Composition

Material/Component Category Origin z Mass

Primer 150 Amine EL 10.8

Primer 150 Resin EL 19

Stonproof ME7 Iso EL 12.3

Stonproof ME7 Polyol EL 38.5

Stonkote UT4 Amine EL 5.3

Stonkote BS4 Resin EL 14.1

Packaging Material Origin kg Mass

zDPE EL 0.008

PE EL 0.025

Cardboard EL 0.098

Pallet EL 0.055

Biogenic Carbon Content kg C per kg of applied 
product

'iogenic carbon content in product 0.0H93

'iogenic carbon content in accompanying packaging 0.0075

Page 5 / 14



Stongard MR
Stonhard

HaWardous Materials

1,3- ben<enedimethanamine reaction products with styrene (CAS 4043H2-22-7)

1,H he6andiol glycidyl ether (CAS 1H09H-31-4)

2-pipera<in-1-ylethylamine (CAS 140-31-8)

3-Aminomethyl-3,5,5- trimethylcyclohe6ylamin e (CAS 2855-13-2)

4-nonylphenol, branched (CAS 84852-15-3)

4,4=-methylenediphenyl diisocyanate (CAS 101-H8-8)

Anhydrous aluminum silicate (CAS HH402-H8-4)

'en<yl alcohol (CAS 100-51-H)

Carbomocyclic alkylated mi6tures of poly-a<aalkanes, hydrogenated  (CAS 1173092-74-4)

Carbon black (CAS 1333-8H-4)

Castor oil (CAS 8001-79-4)

Diethylenetriamine (CAS 111-40-0)

Diphenylmethane-2,4=- diisocyanate (CAS 5873-54-1)

Dipropylene glycol diben<oate (CAS 27138-31-4)

Isodecyl ben<oate (CAS 131298-44-7)

zimestone (CAS 1317-H5-3)

Naphtha (petroleum),  heavy alkylate (CAS H4741-H5-7)

Phenol, polymer with formaldehyde, glycidyl ether (CAS 280H4-14-4)

Polyo6ypropylenediamine (CAS 904H-10-0)

Reaction product% bisphenol-A-(epichlorhydrin) epo6y resin (number average molecular weight Zj 700) 
(CAS 250H8-38-H)

Talc (CAS 14807-9H-H)

Titanium dio6ide (CAS 134H3-H7-7)

Trimethyl-1,3- pentanediol, dii (CAS H84H-50-0)

+eolites (CAS 1318-02-01)

EPD Data Speci,citw

Primarw Data Qear:   2022-2023  

Manufacturing Speci,citw: Industry Average

Manufacturer Average

Facility Speci%c

Page 6 / 14



Stongard MR
Stonhard

Softhare and LCI Data Sources

LCA Softhare: openLCA v. 2.0

LCI voreground Datayase)s.: Ecoinvent v. 3.9.1

LCI Fac-ground Datayase)s.: Ecoinvent v. 3.9.1

Renehayle Electricitw

Renehayle electricitw is used:   No  

Swstem Foundarw

Production

A1 Raw material supply EU 27

A2 Transport EU 27

A3 Manufacturing ITA

Construction
A4 Transport to site ND ND

A5 Assembly / Install ITA

Use

B1 Use ND ND

B2 Maintenance ND ND

B3 Repair ND ND

B4 Replacement ND ND

B5 Refurbishment ND ND

B6 Operational Energy Use ND ND

B7 Operational &ater Use ND ND

End of Life

C1 Deconstruction ND ND

C2 Transport ND ND

C3 &aste Processing ND ND

C4 Disposal ND ND

Bene%ts E Loads Beyond System 
Boundary

D Recycling, Reuse Recovery 
Potential ND ND

Page 7 / 14



Stongard MR
Stonhard

Product vloh Diagram

Life Cwcle Module Descriptions

Page 8 / 14



Stongard MR
Stonhard

  The upstream phase includes raw materials and packaging production which are required for Stongard MR (phase A1). All materials are transported to the production 
site (Alghero, IT) where they are being used (phase A2). The components (resins, amines and aggregates) of the different layers are produced by mi6ing and blending 
the raw materials and packaging into standard units (phase A3). The components are used at the building sites to install the Wooring system (phase A5). Uere, reactions 
occur between the amines and the resins and solid layers are formed. 

LCA Discussion

Allocation Procedure

 Electricity, water and diesel were estimated based on mass allocation following a top-down approach based on the products manufactured in Alghero in the reference 
period. The cut-off approach was selected for the background zCA data. 

CutYoff Procedure

 A cut-off of 1G was applied to all raw materials, packaging materials, energy, water and waste Wow.  The impact of infrastructure and capital goods corresponding to 
the core process was e6cluded from this EPD. 

Data 3ualitw Discussion

 Precision% The inventory data used in this study were either directly measured, calculated, or estimated based on primary data sources, ensuring high precision. 
'ackground data from ecoinvent v3.9.1 database also has documented precision to the e6tent available. 

 Completeness% Each product system=s mass balance and inventory completeness were thoroughly checked. Some e6clusions were made in line with the PCR 
requirements. Uowever, no data was intentionally omitted. 

 Consistency% Primary data were collected with a similar level of detail, while background data came from the ecoinvent v3.9.1 database. The modeling approach and 
other methodological choices were applied consistently throughout the model. 

 Reproducibility% This study ensures reproducibility by providing comprehensive disclosure of input-output data, dataset choices, and modeling approaches. A knowl-
edgeable third party should be able to appro6imate the results using the same data and modeling methods. 

 Representativeness% 

 Temporal% Primary data were collected for either the one-year period of October 2022 to September 2023 (for the maVority of products) to ensure the representativeness 
of post-consumer content. Secondary data from the ecoinvent v3.9.1 database is typically representative of recent years. 

 Beographical% Primary data represent Stonhard=s production facilities in Alghero, Italy. The use of country-speci:c data ensures high geographical representativeness, 
and pro6y data were only used when country-speci:c data were unavailable. 

 Technological% 'oth primary and secondary data were tailored to the speci:c technologies studied, ensuring high technological representativeness. 

Page 9 / 14



Stongard MR
Stonhard

Results

En(ironmental Impact Assessment Results
EF 3.1
per 1 kg of applied product.
zCIA results are relative e6pressions and do not predict impacts on category endpoints, the e6ceeding of thresholds, safety margins or risks.

Impact Categorw Unit A1A2A% A5

BxP-total kg CO2 eq 3.14e&0 2.93e-1

BxP-fossil kg CO2 eq 3.22e&0 1.20e-1

BxP-biogenic kg CO2 eq -2.90e-1 2.8He-2

BxP-luluc kg CO2 eq 2.09e-1 1.34e-5

ODP kg CFC 11 eq 2.32e-7 1.93e-9

AP mol U& eq 1.50e-2 2.99e-4

EP-freshwater kg P eq 8.57e-4 1.44e-5

EP-marine kg N eq 4.97e-3 1.59e-4

EP-terrestrial mol N eq 3.41e-2 H.79e-4

POCP kg NMQOC eq 1.20e-2 2.9He-4

ADP-mineralsKmetals kg Sb eq 2.58e-5 5.48e-7

ADP-fossil MJ H.01e&1 1.21e&0

xDP m3 1.7He&0 1.53e-2

Abbreviations%

BxP j Blobal xarming Potential, 100 years (may also be denoted as BxP-total, BxP-fossil (fossil fuels), BxP-biogenic (biogenic sources), BxP-luluc (land use and land use change)), ODP j O<one Depletion Potential, AP j 
Acidi:cation Potential, EP j Eutrophication Potential, SFP j Smog Formation Potential, POCP j Photochemical o6idant creation potential, ADP-Fossil j Abiotic depletion potential for fossil resources, ADP-MineralsKMetals j Abiotic 
depletion potential for non-fossil resources, xDP j xater deprivation potential, PM j Particular Matter Emissions, IRP j Ioni<ing radiation, human health, ETP-fw j Eco-to6icity (freshwater), UTP-c j Uuman to6icity (cancer), UTP-nc 
j Uuman to6icity (non-cancer), S>P j Soil quality inde6.

The BxP-BUB of electricity used is 0.H03 kgCO2e/kxh corresponding to the residual electricity grid mi6 in Italy from ecoinvent 3.9.1.

Comparisons cannot be made between product-speci:c or industry average EPDs at the design stage of a proVect, before a building has been speci:ed. Comparisons 
may be made between product-speci:c or industry average EPDs at the time of product purchase when product performance and speci:cations have been established 
and serve as a functional unit for comparison. Environmental impact results shall be converted to a functional unit basis before any comparison is attempted. Any 
comparison of EPDs shall be subVect to the requirements of ISO 21930 or EN 15804. EPDs are not comparative assertions and are either not comparable or have limited 
comparability when they have different system boundaries. EPDs are not comparative assertions and are either not comparable or have limited comparability when they 
have different system boundaries, are based on different product category rules or are missing relevant environmental impacts. Such comparison can be inaccurate, and 
could lead to erroneous selection of materials or products which are higher-impact, at least in some impact categories.

Page 10 / 14



Stongard MR
Stonhard

Resource Use Indicators
per 1 kg of applied product.

Indicator Unit A1A2A% A5

PERE MJ, net calori:c value 1.02e&1 8.39e-2

PERM MJ, net calori:c value 0 0

PERT MJ, net calori:c value 1.02e&1 8.39e-2

PENRE MJ, net calori:c value 5.H0e&1 1.1He&0

PENRM MJ, net calori:c value 4.38e&0 4.90e-2

PENRT MJ, net calori:c value H.03e&1 1.21e&0

SM kg 9.40e-2 1.05e-2

RSF MJ, net calori:c value H.48e-2 H.02e-3

NRSF MJ, net calori:c value 1.7He-1 8.80e-3

RE MJ 1.02e&1 8.39e-2

Fx m3 4.H2e-2 H.98e-4

Abbreviations%

RPRE or PERE j Renewable primary resources used as energy carrier (fuel), RPRM or PERM j Renewable primary resources with energy content used as material, RPRT or PERT j Total use of renewable primary resources with energy 
content, NRPRE or PENRE j Non-renewable primary resources used as an energy carrier (fuel), NRPRM or PENRM j Non-renewable primary resources with energy content used as material, NRPRT or PENRT j Total non-renewable 
primary resources with energy content, SM% Secondary materials, RSF j Renewable secondary fuels, NRSF j Non-renewable secondary fuels, RE j Recovered energy, ADPF j Abiotic depletion potential, Fx j Lse of net freshwater 
resources, QOCs j Qolatile Organic Compounds.

Waste and Output vloh Indicators
per 1 kg of applied product.

Indicator Unit A1A2A% A5

UxD kg 2.2He-1 2.0He-3

NUxD kg 3.44e-1 4.2He-2

RxD kg 5.H8e-5 1.77e-H

CRL kg 0 0

MFR kg 1.30e-1 1.02e-2

MER kg 0 0

EEE MJ 0 0

EET MJ 0 0

Abbreviations%

UxD j Ua<ardous waste disposed, NUxD j Non-ha<ardous waste disposed, RxD j Radioactive waste disposed, UzRx j Uigh-level radioactive waste, IzzRx j Intermediate- and low-level radioactive waste, CRL j Components 
for re-use, MFR or MR j Materials for recycling, MER j Materials for energy recovery, MNER j Materials for incineration, no energy recovery, EE or EEE j Recovered energy e6ported from the product system, EET j E6ported thermal 
energy.

Page 11 / 14



Stongard MR
Stonhard

Caryon Emissions and Remo(als
per 1 kg of applied product.

Indicator Unit A1A2A% A5

No data found

Abbreviations%

'CRP j 'iogenic Carbon Removal from Product, 'CEP j 'iogenic Carbon Emission from Product, 'CR[ j 'iogenic Carbon Removal from Packaging, 'CE[ j 'iogenic Carbon Emission from Packaging, 'CEx j 'iogenic Carbon 
Emission from Combustion of xaste from Renewable Sources Lsed in Production Processes, CCE j Calcination Carbon Emissions, CCR j Carbonation Carbon Removals, CxNR j Carbon Emissions from Combustion of xaste from 
Non-Renewable Sources used in Production Processes, BxP-luc j Carbon Emissions from zand-use Change.

Page 12 / 14



Stongard MR
Stonhard

Scenarios

Installation in to tze yuilding/construction site )A5.
A5 Module

Electricitw Consumption:   0.12 k&h  

Interpretation

 The main EPD results are given in the EPD report. A1 process accounted for as much as 2.51 kgCO2e/kg of Stongard MR product, while the Primer 150 components 
accounted for nearly 0.87 kgCO2e/kg of Stongard MR product. Overall the A1-A3 BxP100-Total was 3.14 kgCO2e/kg of Stongard MR product. The A5 impact was very 
low compared to the manufacturing impact. Although C3 and C4 phases corresponding to the waste processing and disposal, respectively, are out of the boundaries of 
this zCA, it is investigated the amount of biogenic carbon that would be released during these phases. Lnder the reality of taking the product mi6ed with other building 
and construction materials (such as concrete), which is the classic use of this product, it is assumed that the product will end-up land:lled in a sanitary land:ll stick 
together to large concrete chunks without the possibility of separation and speci:c recovery or treatment of MR. Since the biogenic content of Stongard MR is mi6ed 
with physically stable constituents and resins, which indeed allow lifespans accordingly long for the building and construction sector (]50-100 years), it is not e6pected 
a release of  biogenic carbon under land:lling conditions, less within a period of 100 years since product manufacturing, which would account within the global warming 
potential at 100 years (BxP100) indicator. 'iogenic carbon content of this product is e6pected to behave as biomass captured within fossil amber resins, which remain 
sequestered during long periods of time, frequently millions of years. Thus, the biogenic carbon released during phases C3 and C4 is e6pected to be e6tremely low, 
potentially <ero if the product is considered a waste after more than 100 years since manufacturing. 

06 206 406 B06 806 1006

 W-Dutotal 

 W-Dufo))il 

 W-Dubiogenic 

 W-Dulmlmc 

 O5D 

 AD 

 PDufre)hwater 

 PDu&arine 

 PDuterre)trial 

 DOCD 

 A5Du&ineral)2&etal) 

 A5Dufo))il 

 -5D 

Production )A1 Y A%. Construction )A4 Y A5.

Dataset Information

Dataset name Information module Dataset source Amount (if relevant) Unit

electricity, low voltage, residual mi6 A1 ecoinvent 3.9.1 con:dential kxh

Page 13 / 14



Stongard MR
Stonhard

Otzer En(ironmental Impacts

Impact Categorw Indicator Unit A1A2A% A5

BxP-BUB ND kg CO2 eq 3.43e&0 2.H4e-1

Abbreviations%

BxP-IO'C/BxP-BUB j Climate change indicator with instantanious o6idation of biogenic carbon. The BxP-IO'C indicator has <ero contribution to BxP from biogenic carbon temporary stored in products and packaging. The 
BxP-IO'C indicator, also called BxP-BUB, is identical to BxP-total e6cept that the characteri<ation factor (CF) for biogenic CO2 is set to <ero.

References

 “1”�ISO 14040%200H, _Environmental management - zife cycle assessment - Principles and frameworkS. 

 “2”�ISO 14044%200H, _Environmental management - zife cycle assessment - Requirements and guidelinesS. 

 “3”�EN15804%2019. Sustainability of Construction Products. 

 “4”�NSF International, Product Category Rule for Environmental Product Declarations for Resinous Floor Coatings, December 2018. 

 “H”�ISO 14025%200H, _Environmental labels and declarations - Type III environmental declarations - Principles and proceduresS. 

 “7”�ecoinvent v3.9.1, December 2022, 

 https%//ecoinvent.org/the-ecoinvent-database/data-releases/ecoinvent-3-9-1/ 

 “8”�xeidema '. P., C. 'auer, R. Uischier, et al. Overview and methodology. Data quality guideline for the ecoinvent  database version 3. Ecoinvent Report 1(v3), St. Ballen% 
The ecoinvent Centre (2013).  

 https%//ecoinvent.org/wp-content/uploads/2021/09/dataqualityguidelineTecoinventT3T2013050H.pdf 

 “9” �NPCR 009 Part ' for Technical - Chemical products for building and construction industry 

 “10” Construction Products Product Category Rule (PCR) 2019%14 v1.3.2 

Page 14 / 14


